mi-
Ex

The Specialist In Drum Handli;zg Equipment

Kit # RP400-06.01
Recommended Spare Parts Kit

Recommended Spare Parts Kit for Morse Model 400A-96-114
Serial Number 0409 to 0219 (MMYY)

Qty. Part # Description
2 5329-P | PIN, GROOVE, 3/4 X 3.10 IMPORTANT
2 5330-P | SNAP RING, EXT, HD, .078, 3/4” NOTE
2 87-P WHEEL, MORTUF, 8’, 3/4” BRG 4-Digit serial numbers
2 3308-P | CASTER, 4” SWIVEL, DBL RACE are simply the month
1 64-P ROLL PIN, 3/16 X 1-1/4 & year of manufacture
1 3849B-P | BEARING BLOCK, SLIDING IDLER Example: 0802 is
1 14-p GEAR, PINION, 7 TOOTH August 2002
1 13-P SPROCKET #35 36T, 3/4” BORE
1 735-P KEY, WOODRUFF, SIZE 9, ASA606
1 12-P CHAIN, ROLLER, #35 W/ M LINK
1 27-P SPUR GEAR W/ 1” SHAFT, HD TYPE
1 1116-P SPROCKET #35 17T, 1” BORE
1 2656-P | KEY, SQUARE, 1/4 X 1"
10 193-P SCREW, 12-14 X 3/4 3 PT TEK
2 18-P BEARING, 1” ID X 2-1/2”
1 7-P BEARING, 3/4” ID X 1-1/2”
2 736-P KEY, WOODRUFF, SIZE 15, ASA808
1 30-P SPROCKET #40D 16T, 1” BORE
1 32-P SPROCKET #40D 32T, 1” BORE
1 31-P CHAIN, ROLLER, #40D W/ M. LINK
1 4214A-P | RATCHET PLATE CPT, MOR
2 5019-P [ CHAIN, HINGE, 9/32 ALLOY 2 LK
4 4177-P | BOLT, 5/16-18 X 1 CARRIAGE RIB
4 4178-P | NUT, 5/16-18 FLANGE LOCK, MOR
1 4172-P | PIN, CLEVIS, CINCH CHAIN 8.5MM
1 5017-P [ CHAIN, CINCH, 9/32, 38 LIN
1 4414-P | COVER, CINCH CHAIN, FLEX PVC
1 4678-P | COTTERPIN, 1/8” X 3/4”
2 MO00018-P | SPRING, TORSION, MON
2 M01326-P | ROD, VALVE HANDLE, MON
2 M01157-P | BALL, PLASTIC, HANDLE, MON
1 4195-P | KIT, SEAL, 1-1/2 CYL 0504-
1 PS222001-P| KIT, SEAL, HYD MOTOR, 351-P
1 K208-P | KIT, SERVICE, 290-A-2P

morsedrum.com
Copyright 2019 - Morse Mfg. Co., Inc. Form RP400-06.01 (Updated 19 Jun, 2019) 1




